
I.	/ Rewrite the following sentence using a relative clause.
1.	India is a country. The earthquake occurred in this country last month.
→	India is the country where the earthquake occurred last month.
2.	Bac Giang is a city. I was born and grew up there.
→	Bac Giang is the city where I was born and grew up.
3.	We have not decided the day. We’ll go to London on that day.
→	We have not decided the day when we’ll go to London.
4.	The man made me sad the most. I love him with all my heart.
→	The man whom I love with all my heart made me sad the most.
5.	The thief was caught. This was really good news.
→	The thief was caught, which was really good news.
6.	The gentleman was very young. He was introduced as the most successful businessman.
→	The gentleman who was introduced as the most successful businessman was very young.
7.	His book became the best seller. It was published last year.
→	His book, which was published last year, became the best seller.
8.	Neil Armstrong lived in the USA. He walked on the moon.
→	Neil Armstrong, who walked on the moon, lived in the USA.
9.	Nam is very intelligent. He learns in our class.
→	Nam, who learns in our class, is very intelligent.
10.	Ha Long has grown into a big city over the past few years. I visited the city last year.
→	Ha Long, which I visited last week, has grown into a big over the past few years.
11.	I don’t know the name of the woman. I spoke to her on the phone.
→	I don’t know the name of the woman whom / that I spoke to on the phone.
12.	We often go to visit our friends in Bristol. It’s only 30 miles away.
→	We often go to visit our friends in Bristol, which is only 30 miles away.
13.	This is Mr Carter. I was telling you about him.
→	This is Mr Carter, whom I was telling you about.
14.	That is the room. The meeting is held in that room.
→	That is the room where the meeting is held.
15.	I’ll always remember the day. I first saw that sight on that day.
→	I’ll always remember the day when I first saw that sight.
16.	She was born in Malaysia. Rubber trees grow well there.
→	She was born in Malaysia, where rubber trees grow well.
17.	No one knows the school. My uncle taught at that school 10 years ago.
→	No one knows the school where my uncle taught 10 years ago.
18.	Please ask them the time. The train started the trip at that time.
→	Please ask them the time when the train started the trip.
19.	New Year’s Day is a day. All family members gather and enjoy a family dinner then.
→	New Year’s Day is the day when all family members gather and enjoy a family dinner.
20.	There are many hotels. Tourists can enjoy their holidays there.
→	There are many hotels where tourists can enjoy their holidays.
II./ Fill in the gap with: who, whom, which, or whose.
	1.	We talk about the party which Sarah wants to organize for my birthday.
	2.	Don is a friend withwhom I stayed in Australia.
	3.	Mrs. Richmond, who is 42 years old, does morning exercise every morning.
	4.	We cannot find the person whose car is blocking our driveway.
	5.	The film about which they are talking is thrilling.
	6.	My uncle, whom you met yesterday, is a famous lawyer in the town.
	7.	The police are questioning the woman whose purse was stolen outside the supermarket.
	8.	The girl who showed me the way to your house has a beautiful oval face.
	9.	The book which I received on my birthday is informative.
	10.	The company whose products have high quality is facing with financial problem.
III./ Rewrite the sentences without changing the meaning.
1.	He can’t go out because he has to study for his exam.
[bookmark: _GoBack]	If he didn’t have to study for his exam, he could go out.
2.	She is lazy so she can’t pass the exam.
If she weren’t lazy, she could pass the exam.
3.	He will pay me tonight; I will have enough money to buy a car.
	If he pays me tonight, I will have enough money to buy a car.
4.	He smokes too much; that’s why he can’t get rid of his cough.
If he didn’t smoke too much, he could get rid of his cough.
5.	She is very shy, so she doesn’t enjoy the party.
If she weren’t shy, she could enjoy the party.
6.	I get a work permit. I will stay for another month.
If I get a work permit, I will stay for another month.
7.	He doesn’t take any exercises. He is so unhealthy.
	If he took exercises, he would be healthy.
8.	We can’t get the ticket because I don’t have the right change.
	If I had the right change, we could get the ticket.

